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MATHEMATICS TEST

8 Minutes—8 Questions

DIRECTIONS: Solve each problem, choose the correct
         but some of the problems may best be done without

answer, and then fill in the corresponding oval on your
         using a calculator.

answer document.




         








         Note:Unless otherwise stated, all of the following should

Do not linger over problems that take too much time.    
         be assumed.

Solve as many as you can; then return to the others in

the time you have left for this test.


         1. Illustrative figures are NOT necessarily drawn to scale.







         2. Geometric figures lie in a plane.

You are permitted to use a calculator on this test. You
         3. The word line indicates a straight line.

may use your calculator for any problems you choose,  
         4. The word average indicates arithmetic mean.

	Pre-Algebra 23% ~ about 14 out of 60



	1.  Tom has taken 5 of the 8 equally weighted tests in his

U.S. History class this semester, and he has an average score of exactly 78.0 points. How many points does he

need to earn on the 6th test to bring his average score up to exactly 80.0 points?

A. 90

B. 88

C. 82

D. 80

E. 79


	2.  An integer from 100 through 999, inclusive, is to be chosen at random. What is the probability that the number chosen will have 0 as at least 1 digit?

A.  
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900


B.  
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900


C.  
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D.  
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	3.  The number 40.5 is 1,000 times greater than which of the following numbers?

A. 0.405

B. 0.0405

C. 0.0450

D. 0.00405

E. 0.000405


	Elementary Algebra 17% ~ about 10 out of 60



	4.  What values of x are solutions for 
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A. 4 and 2

B. 2 and 0

C. 2 and 4

D. 0 and 2

E. 6 and 8



	Intermediate Algebra 15% ~ about 9 out of 60



	5.  Given f (x) 4x 1 and 
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, which of the following is an expression for f (g(x)) ?
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	Coordinate Geometry  15% ~ about 9 out of 60



	[image: image19.emf]6.  If point M has a nonzero x-coordinate and a nonzero y-coordinate and the coordinates have opposite signs, then point M must be located in which of the 4 quadrants labeled below?

A. I only

B. III only

C. I or III only

D. I or IV only

E. II or IV only



	Plane Geometry 23% ~ about 14 out of 60

	7.  Lines a, b, c, and d are shown below and a || b. Which

[image: image20.emf]of the following is the set of all angles that must be supplementary to ∠x ?

F. {1, 2}

G. {1, 2, 5, 6}

H. {1, 2, 9, 10}

J. {1, 2, 5, 6, 9, 10}

K. {1, 2, 5, 6, 9, 10, 13, 14


	8.  In the figure below, B lies on 
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A. 90°

B. 60°

C. 45°

D. 30°

E. Cannot be determined from the given information




_1344363095

_1344363185

_1344363425

_1344363466

_1344363482

_1344363490

_1344363443

_1344363399

_1344363141

_1344363158

_1344363117

_1344362809

_1344362978

_1344363051

_1344362830

_1344362769

_1344362790

_1344362748

